Solutions to Homework No. 7 (Chapter 3)
Review Questions
2. Enormous momentum due to huge mass.
4. By increasing the force, or increasing the time the force is exerted.
6. Impulse equals a CHANGE in momentum.
 Exercises
2. Supertankers are so massive, that even at modest speeds their motional inertia, or momenta, are enormous. This means enormous impulses are needed for changing motion. How can large impulses be produced with modest forces? By applying modest forces over long periods of time. Hence the force of the water resistance over the time it takes to coast 25 kilometers sufficiently reduces the momentum.
6. The impulse required to stop the heavy truck is considerably more than the impulse required to stop a car moving with the same speed. The force required to stop either, however, depends on the time during which it is applied. Stopping the car in a split second results in a certain force. Apply less than this amount of force on the moving truck and given enough time , the truck will come to a halt.
7. Impact with a boxing glove extends the time during which the momentum of the fist is reduced, and lessens the force. A punch with a bare fist involves less time and therefore more force
